@ Bonfiglioli

6.3 DIMENSIONS AND TECHNICAL SPECIFICATIONS

IS 58.2 (MP 053 1)
72  (MPO0532)
25 85.8 (MP 053 3) 24.5
2.5 3
4128
St I ,*'EI'E 0 MP0531 | 038
N — N WO
@ =l © MP 053 2 1.0
2 ke MP 053 3 1.3
50 55 =
ENEN Ll
53 (MPO0531)
66.8 (MP 053 2)
N5 80.6 (MP 053 3) 24.5
N3 3
2.5
: 14,125 &
75 ) \ \ ot M
(oan el =, ﬂg?[gg MP0531 | 0.8
\\g\‘? A d o MP 0532 | 1.0
AN e ‘E = § MP 0533 | 1.3
,‘/ 40 £0.05 J_m
~ \4\50 ;
R
) N N1 N2 | N3 | N4 | N5 | Lmax
=
< min max
25AH 6 635 7 8 9 952 - - - - - 25 36 48
26AH 6 635 7 8 9 952 - - - - - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 6.35 7 8 9 952 - — - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 45 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 48
36AH 6 635 7 8 9 952 - - - - - 36 42 48
38AH 6 635 7 8 9 952 - - - - - 38 44 48
40AH 6 635 7 8 9 952 - - - - - 40 46 48
38B 6 635 7 8 9 952 10 M1 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 | 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 MM 12 127 14 50 65 60 4 5.5 23 30
50C 6 635 7 8 9 952 10 MM 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 M1 12 127 - 50 65 55 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 M 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 MM 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

108




> Precision Planetary Gearboxes

L1
L3 L2
[
ol it a g e S ]
FM 5 == —1
7 Q
Gz %)
g,
/TN
D {{kx D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 20.2 13.2 8 8.7 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 8515 50 42.5 M4x8 M4 20.5 13.5 8 8.5 11
14 35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5
T M M M C R R: A olliE
, n n
@“‘l n2 a2 p2 1 1max Qs Qr t 1 max 2 max 2 max n @
i Nm] [Nm] [Nm] [min"] [min-"]  [arcmin] ’a,';lnr:in [N] [N] [N] %  6..952 10..14
MP 053 1_3 12 22 40 3300 | 4000 | 15’ | 10 1.0 200 500 600 97 0.06 0.08
MP 053 1_4 15 28 45 3500 | 5000 | 15’ | 10 1.0 200 500 600 97 0.05 0.06
MP 053 1_5 15 28 45 3500 | 5000 | 15’ | 10° 1.0 200 500 600 97 0.04 0.06
MP 053 1_6 15 28 45 3500 | 5000 | 15’ | 10° 1.0 200 500 600 97 0.03 0.05
MP 053 1_7 15 28 45 4000 | 6000 | 15 | 10 1.0 200 500 600 97 0.03 0.05
MP 053 1_9 12 22 40 4000 | 6000 | 15 | 10 1.0 200 500 600 97 0.03 0.05
MP 053 2_12 20 30 60 3300 | 4000 | 15’ | 10’ 0.9 200 500 600 94 0.06 0.08
MP 053 2_15 20 30 60 3300 | 4000 | 15’ | 10’ 0.9 200 500 600 94 0.06 0.08
MP 053 2_16 20 30 60 3500 | 5000 | 15 | 10 0.9 200 500 600 94 0.05 0.06
MP 053 2_20 20 30 60 3500 | 5000 | 15 | 10 0.9 200 500 600 94 0.04 0.06
MP 053 2_25 20 30 60 3500 | 5000 | 15’ | 10’ 0.9 200 500 600 94 0.04 0.06
MP 053 2_28 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_35 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_36 15 28 45 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_45 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_81 12 22 40 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 3_48 20 30 60 4000 | 5000 | 17 | 12 0.7 200 500 600 91 0.05 0.07
MP 053 3_60 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.07
MP 053 3_64 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_75 20 30 60 3500 | 5000 | 17’ | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_80 20 30 60 3500 | 5000 | 17’ | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_84 20 30 60 4000 | 6000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_100 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_112 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_125 20 30 60 3500 | 5000 | 17’ | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_140 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_144 20 30 60 4000 | 6000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_175 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_180 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_216 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_225 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_245 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_252 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_324 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_405 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_567 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_729 12 22 40 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05

109



@ Bonfiglioli

25AH ... 80A

IN
9 gD
o ,W‘ 3 2.5
14 25
~
B & k o &
" 55 9 i [S) =
© O S N MP K 053 2 1.3
R = S MP K 053 3 1.5
~ T MPK0534 | 1.8
@ 40 £0.05 80.5 (Kos32) M5x10
55 94.3 (K0533)
27.5 108.1 (0534) 24.5
N4
\
N
o
/
) N N1 N2 | N3 N4 | N5 | Lmax
Naf
min max
25AH 6 635 7 8 9 952 - — — — — 25 36 48
26AH 6 635 7 8 9 952 - — - — - 26 36 48
28AH 6 635 7 8 9 952 - — — — - 28 36 48
30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 48
36AH 6 635 7 8 9 952 - — - — — 36 42 48
38AH 6 635 7 8 9 952 - - - - — 38 44 48
40AH 6 635 7 8 9 952 - - — - — 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 M1 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 & M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 M1 12 127 - 50 65 55 2 5.5 16 23
60A 6 6.35 7 8 9 952 10 M1 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 8 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 M1 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 & M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

110



> Precision Planetary Gearboxes

@ D1
N
N | N
@ D2
I‘L_S’ @D
Q D5, | View from Q
) ~
FM ] % "I hr %. D4
N 7 =N
4 A —
© — S Q}J/ © i
2 )
R
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 5 8.7 8
9 9.52 10 32.5 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
1 12 12.7 35.5 50 42.5 M4x8 M4 20.5 189 8 8.5 1
14 35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5
LS Ja [kgem?
‘ﬁ% Mn 2 Ma 2 Mp 2 nq Nimax  @s Qg Ct Rzmax  A2max n : g‘ﬁ]
5\ 0 S
i [Nm] [Nm] [Nm]  [min-] = [min-1] [arcmin] A [N] [N] % 6..952 10..14
MP K053 2_3 12 22 40 3300 4000 15' 10 1.0 500 600 94 0.18 0.20
MP K 053 2_4 15 28 45 3500 5000 15' 10 1.0 500 600 94 0.18 0.19
MP K053 2_5 15 28 45 3500 5000 15' 10 1.0 500 600 94 0.17 0.19
MP K 053 2_6 15 28 45 3500 5000 15' 10 1.0 500 600 94 0.17 0.18
MP K 053 2_7 15 28 45 4000 6000 15' 10 1.0 500 600 94 0.17 0.19
MP K053 2_9 12 22 40 4000 6000 15' 10 1.0 500 600 94 0.17 0.18
MP K 053 3_12 20 30 60 3300 4000 15' 10 0.9 500 600 91 0.18 0.20
MP K 053 3_15 20 30 60 3300 4000 15' 10' 0.9 500 600 91 0.18 0.20
MP K 053 3_16 20 30 60 3500 5000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_20 20 30 60 3500 5000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_25 20 30 60 3500 5000 15' 10 0.9 500 600 9 0.17 0.19
MP K 053 3_28 20 30 60 4000 6000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_35 20 30 60 4000 6000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_36 15 28 45 4000 6000 15' 10 0.9 500 600 91 0.17 0.18
MP K 053 3_45 20 30 60 4000 6000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_81 12 22 40 4000 6000 15' 10' 0.9 500 600 91 0.17 0.18
MP K 053 4_48 20 30 60 4000 5000 17 12 0.7 500 600 89 0.18 0.19
MP K 053 4_60 20 30 60 3500 5000 17 12' 0.7 500 600 89 0.18 0.19
MP K 053 4_64 20 30 60 3500 5000 17 12 0.7 500 600 89 0.17 0.19
MP K053 4_75 20 30 60 3500 5000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_80 20 30 60 3500 5000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_84 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.19
MP K 053 4_100 20 30 60 3500 5000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_112 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_125 20 30 60 3500 5000 17' 12 0.7 500 600 89 0.17 0.19
MP K 053 4_140 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_144 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_175 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_180 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.18
MP K 053 4_216 20 30 60 3500 5000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_225 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_245 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.19
MP K 053 4_252 20 30 60 4000 6000 17 12 0.7 500 600 89 0.18 0.20
MP K 053 4_324 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_405 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.18
MP K 053 4_567 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.18
MP K 053 4_729 12 22 40 4000 6000 17" 12' 0.7 500 600 89 0.17 0.18

111



@ Bonfiglioli

MP 060

IS 62.75 (MP 060 1)
79.45 (MP 060 2)
25 96.16 (MP 060 3) 38
.25 3
| 20 | 5
‘\ T
| o)
= iEE
S — -+ 1358 MP 0601 | 1.2
ol 1Y MP0602 | 17
= — B MP 0603 | 2.0
| 65 =
ENEN Lo
57.55 (MP 060 1)
74.25 (MP 060 2)
N5  90.95 (mP 060 3) 38
3
3.5
20 .5 &
| \‘ ‘ — ’E .'E e}
= =0 1 5|58 MP 060 1 1.2
i o Y MP 060 2 1.7
‘JE = % MP 0603 | 2.0
‘ /A =
e 52 +0.05 10
Sdse W
T % [a—
(e
ol (> N N1 N2 | N3 N4 | N5 | Lmax
4
min | max
6 6.35 7 8 9 952 - - — — - 25 39 56
6 635 7 8 9 952 - - - - - 26 39 56
6 6.35 7 8 9 952 - — - — - 28 39 56
6 635 7 8 9 952 - - - - - 30 39 56
6 635 7 8 9 952 - - - - - 32 39 56 65 3.5 4.5 25 25
6 635 7 8 9 952 - - - - - 34 40 56
6 635 7 8 9 952 - - - - - 36 42 56
6 635 7 8 9 952 - — - — - 39 45 56
6 635 7 8 9 952 - - - - - 40 46 56
6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 6.35 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
6 635 7 8 9 952 10 11 12 127 14 | 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 5.5 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 B M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 M 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M 12 127 14| 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

112



> Precision Planetary Gearboxes

MP 060

L1
L3 L2
[
- N
(o] O (=) Py £ Gy B o -
FM o == 1
7 S
vz ©
&y
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
1" 12 12.7 8515 50 42.5 M4x8 M4 20.5 13.5 3 8.5 1
35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5

&J‘“Ti Mn2 | Ma2z  Mp2 Os  @Qr (of: Rimax R2max A2max
’ Nm

i [Nm] [Nm] farcmin] | Zremin

(N] (N] [N]

MP 060 1_3
MP 060 1_4
MP 060 1_5
MP 060 1_6
MP 060 1_7
MP 060 1_10
MP 060 2_9
MP 060 2_12
MP 060 2_15
MP 060 2_16
MP 060 2_20
MP 060 2_25
MP 060 2_28
MP 060 2_30
MP 060 2_35
MP 060 2_36
MP 060 2_40
MP 060 2_50
MP 060 2_70
MP 060 2_100
MP 060 3_48
MP 060 3_64
MP 060 3_75
MP 060 3_80
MP 060 3_84
MP 060 3_90
MP 060 3_120
MP 060 3_125
MP 060 3_140
MP 060 3_150
MP 060 3_160
MP 060 3_175
MP 060 3_200
MP 060 3_210
MP 060 3_216
MP 060 3_250
MP 060 3_280
MP 060 3_350
MP 060 3_400
MP 060 3_500
MP 060 3_700
MP 060 3_1000

113



@ Bonfiglioli

MP K 060

25AH ... 80A

IN
55 - 2D
=z
5h7 2 4,&\\? W 335
7)//51 v k =
% NN = &
S s 8
2l D) ) < r g [wpKoso2 | 17
& j : ; MPKO0603 | 2.2
\ j/ € MPKO0604 | 25
2 52 1005 10172 omd M5x10
275 118.45 (K 0604) L 38
N4
\\ [p—
]
ol R N N1 N2 | N3 | N4 | N5 | Lmax
e
min max
25AH | 6 635 7 8 9 952 - - — — _ | 25 | 39 | 56
26AH | 6 635 7 8 9 95 - - - - _—| 26 | 39 | 56
28AH | 6 635 7 8 9 952 - - - - _| 28 | 39 | 56
30AH |6 63 7 8 9 952 - - - — —| 30 | 39 | 56
322AH | 6 635 7 8 9 95 - - - - _| 3 | 3 | 5 | 65 | 35 | 45 25 | 25
34AH |6 635 7 8 9 952 - - - - _| 3 | 40 | 56
36AH | 6 635 7 8 9 95 - - - - _—| 3 | 42 | 56
39AH |6 635 7 8 9 952 - - - — _ | 39 | 45 | 56
40AH |6 635 7 8 9 95 - - - — _| 4 | 46 | 56
38B 6 635 7 8 9 952 10 1 12 127 — | 384 66.6 60 | 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | mM4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH |6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | Msx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 ) 75 | 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | mMex15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 | 5 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

114



> Precision Planetary Gearboxes

MP K 060

(59
—

View from Q
FM I: % D4
—
& ] S %y & I
2 \ T )
b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 | M4 202 | 132 3 8.7 8
8 9 9.52 10 325 50 425 | M4x8 | M4 202 | 132 3 7.8 9
1 12 12.7 355 50 425 | M4x8 | M4 205 | 135 3 8.5 1
14 355 50 425 | M4x8 | M4 24 17 3 102 | 115

Ps Pr R2 max

[arcmin]

Nm
[arcmin [N] 6..952 10..14

MP K 060 2_3
MP K 060 2_4
MP K 060 2_5
MP K 060 2_6
MP K 060 2_7
MP K 060 2_10
MP K 060 3_9
MP K 060 3_12
MP K 060 3_15
MP K 060 3_16
MP K 060 3_20
MP K 060 3_25
MP K 060 3_28
MP K 060 3_30
MP K 060 3_35
MP K 060 3_36
MP K 060 3_40
MP K 060 3_50
MP K 060 3_70
MP K 060 3_100

MP K 060 4_48 1.8

MP K 060 4_64 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.18 0.20
MP K 060 4_75 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_80 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.18 0.20
MP K 060 4_84 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_90 18 35 70 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_120 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.15 0.17
MP K 060 4_125 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_140 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_150 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_160 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_175 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_200 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_210 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_216 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_250 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_280 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_350 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_400 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_500 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_700 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_1000 18 85 70 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18

115



@ Bonfiglioli

MP 080

IS 105.3 (MP 080 1)
129.8 (MP 080 2)
43 154.3 (MP 080 3) 46
6 4 5
20 T 30_|.5
| &
~| 1y ¢J | i~ é
Sl == 1| N g2 WP oE T | 40
e \ o Tt MP 0802 | 4.6
) = 8 MP 0803 | 52
= \ \ =
s NI 65 +0.05
RENAN Ll

40B1 ... 110B1

83.5 (MP 080 1)
108 (MP0802)
N5 132.5 (vP 080 3) 46

N3 5
2
1305 Jico
[
a INY NS
SN &= ;Ié% MP 0801 | 4.0
VA = o TI® MP 0802 | 4.6
4@ = 5 MP 0803 | 5.2
L | =
Tl
[
1
b (<R N | Nt | N2 | N3 | N4 | N5 | Lmax
&
4B1 | 8 9 952 11 12 127 14 - - — — - | 40 | 63 | 80 | 4 | Max12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - - | 45 63 | 80 | 4 | M4x12 | 34 | 40
5081 |8 9 952 11 12 127 14 - - - - — | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - — | 50 | 6 | 8 | 4 55 | 34 | 40
50c1 |8 9 952 11 12 127 14 - - - - - | 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - - - | 50 95 | 80 | 4 | Mex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |1257 | 105 | 4 | Méx20 | 34 | 40
60A2 |8 9 952 11 12 127 14 - - - - - | 60 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - |60 | 75 | 90 | 4 65 | 34 | 40
60B1 |8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 80 | 4 | M5x16 | 34 | 40
60C1 | 8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 8 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 8 | 90 | 4 65 | 34 | 40
70B1 |8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 | 8 9 952 11 12 127 14 - - - - - | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Mex16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
1M0A |8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
0B |8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 | 50
10B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

116




> Precision Planetary Gearboxes

L1
L3 L2
[
LU =
Q g lt 7 a
7 S
vz ©
5.,
R
b (&7 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5
11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12,5
14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 15 1958 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5
NS SB HB Jg [kgem?]
A
\'P}_)“b‘ll Mn2 Maz Mp2 N1 nimax Qs  Qr Ct Rimax Ramax A2max Ramax Azmax ™ g
i [Nm] [Nm] [Nm] [min-'] [min-'] [arcmin] la,mn [Nl [N] [N] [N] [N] % 8..12.7 14..19.05
MP 080 1_3 40 | 80 | 180 | 2900|3500 | 15' | 10'| 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.50 0.59
MP 080 1_4 50 | 80 | 200 [ 3100|4500 | 15' | 10'| 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.34 0.43
MP 080 1_5 50 [ 80 | 200 [ 3200|4500 | 15' | 10' | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.28 0.37
MP 080 1_6 50 | 80 | 200 | 3200|4500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.21 0.30
MP 080 1_7 50 | 80 | 200 [4000 6000 | 15' | 10'| 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.23 0.32
MP 080 1_10 40 | 80 | 180 | 4000|6000 | 15" | 10" | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.20 0.29
MP 080 2_9 40 | 80 | 180 | 2900 | 3500 | 15' [ 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.49 0.58
MP 080 2_12 70 | 100 | 250 [ 2900 | 3500 | 15' | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.47 0.56
MP 080 2_15 70 [ 100 | 250 [ 2900 | 3500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.46 0.55
MP 080 2_16 70 | 100 | 250 [ 3100 | 4500 | 15' | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.32 0.41
MP 080 2_20 70 | 100 | 250 | 3200 | 4500 | 15' | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_25 70 | 100 | 250 | 3200 | 4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_28 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_30 40 | 80 | 180 [ 4000|6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_35 70 | 100 | 250 [ 4000|6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_36 50 | 80 | 200 [ 3200|4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_40 70 | 100 | 250 [ 4000 | 6000 | 15' | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_50 70 | 100 | 250 [ 4000 | 6000 | 15' | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_70 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_100 40 | 80 | 180 | 4000|6000 | 15" | 10" | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 3_48 70 | 100 | 250 [ 3100 | 4500 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.33 0.42
MP 080 3_64 70 | 100 | 250 [ 3100|4500 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_75 70 | 100 | 250 [ 3200 | 4500 | 17' | 12'| 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_80 70 | 100 | 250 | 3100 | 4500 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_84 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.23 0.32
MP 080 3_90 40 | 80 | 180 | 4000 | 6000 | 17" [ 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_120 70 | 100 | 250 [ 4000|6000 | 17' | 12'| 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_125 70 | 100 | 250 [ 3200 | 4500 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_140 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_150 70 | 100 | 250 [ 4000|6000 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_160 70 | 100 | 250 [ 4000 | 6000 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_175 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_200 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_210 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_216 70 | 100 | 250 | 3200 | 4500 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_250 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_280 70 | 100 | 250 [ 4000|6000 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_350 70 | 100 | 250 [ 4000 | 6000 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_400 70 | 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_500 70 | 100 | 250 [ 4000|6000 | 17' | 12'| 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_700 70 | 100 | 250 [ 4000 | 6000 | 17' | 12" | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
VDR 40 | 80 | 180 [ 4000 | 6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28

117



@ Bonfiglioli

MP G 080

40B1 ... 110B1

Z
] 5
e 2
5 g &
=
+-—-- b —- -8 ——— - -— = MPG0802 | 5.2
© & e MPG0803 | 58
S N . o MPG 0804 | 6.4
SR | e
38.25 192.55 (MP G 080 4) 46
N4 _
(& _ ig}:
p // . \
) \\\K J/// I
&5
N2
@ N1
b (R N | N1 | N2 | N3 N4 N5 | Lmax
&Y
40B1 8 9 952 11 12 127 14 - - — — — | 40 | 63 | 80 | 4 | Max12 | 34 | 40
45A 8 9 952 11 12 127 - - - — — — | 45 | 63 | 8 | 4 | Max12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - - - — | 5 | 65 | 8 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - — | 5 | 65 | 8 | 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - - - — | 50 | 70 | 8 | 4 | M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - - - | 5 | 95 | 8 | 4 | M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |1257 | 105 | 4 | M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - — — - | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - |60 | 75 | 90 | 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 8 | 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 90 | 8 | 4 | Msx16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 8 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 1905 70 | 8 | 90 | 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 8 | 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - — - - | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

118



> Precision Planetary Gearboxes

MP G 080

@ D1
R W 9
NN NN
B N
QO oo
D5 L5 View from Q
FM | i B
2D
Vi
D, (O D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | Méx12 | M6 322 26.3 95 19.3 105
11 12 12.7 43 68 765 | M6x12 | M6 32.2 26.3 9.5 19.3 12.5
14 15875 16 17 48 68 765 | M6x12 | M6 32.2 26.3 9.5 19.3 145
19 19.05 51 68 76.5 | Méx12 | M6 32.2 26.3 9.5 19.3 16.5

HB Jg [kgem?]

/
“- cPS cPR Ct R2 max A2max R2max  |A2max
2]

[min-1]  [arcmin] ’arcmm [N] [N] [N] 8..127 14..19.05

MP G 080 2_3
MP G 080 2_4
MP G 080 2_5
MP G 080 2_6
MP G 080 2_7
MP G 080 2_10
MP G 080 3_9
MP G 080 3_12
MP G 080 3_15
MP G 080 3_16
MP G 080 3_20
MP G 080 3_25
MP G 080 3_28
MP G 080 3_30
MP G 080 3_35
MP G 080 3_36
MP G 080 3_40
MP G 080 3_50
MP G 080 3_70
MP G 080 3_100
MP G 080 4_48
MP G 080 4_64
MP G 080 4_75
MP G 080 4_80
MP G 080 4_84
MP G 080 4_90
MP G 080 4_120
MP G 080 4_125
MP G 080 4_140
MP G 080 4_150
MP G 080 4_160
MP G 080 4_175
MP G 080 4_200
MP G 080 4_210
MP G 080 4_216
MP G 080 4_250
MP G 080 4_280
MP G 080 4_350
MP G 080 4_400
MP G 080 4_500
MP G 080 4_700
MP G 080 4_1000

119



@ Bonfiglioli

MP MB 080

40B1 ... 110B1 20 64
95 42 | ‘
o 20 G6
| | Ns : e
J_&‘fl_‘ 3 i S
e | N3 | Il
IRV R - o ||l 1%
o E +
S sel b4 TR g
o ‘
R e e o 11 o
N \ |
e |
" n ‘u.u_V_
22.5 80 © 20 h7 )
. 9% 42
149.5 (MP MB 080 2)
174 (MP MB 080 3)
198.5 (MP MB 080 4)
6 Nm
22 o
. I &
s 4t - 8 & MP MB 080 2 | 14.0
S MP MB 080 3 | 15.0
MP MB 0804 | 16.0
M8
14
ol R N | N1t | N2 | N3 N4 | N5 | Lmax
<
40B1 8 9 952 11 12 127 14 - — - — — 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 — - — — — 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - = - 50 65 80 4 5.5 34 40
50C1 8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 — - — - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7 | 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 - — - - — 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - — - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - - - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05( 110 145 120 6.5 M8x20 54 60

Please contact us for different motor adapters and input shaft bore.

120



> Precision Planetary Gearboxes

MP MB 080

L1
L2

a IR s e S L
FM S Sihe a
)
%)
8l
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x12 | M6 322 | 263 95 193 | 105
11 12 12.7 43 68 765 | M6x12 | M6 322 | 263 95 193 | 125
14 15875 16 17 48 68 765 | M6x12 | M6 322 | 263 95 193 | 145
19 19.05 51 68 765 | M6x12 | M6 322 | 263 95 193 | 165

DNy Je [kgem?]
‘}I | . tmax | @s Pr Ct

Nm

. : ]
[min-1] [arcmin] arcmin

8..127 14 ...19.05

MP MB 080 2_3
MP MB 080 2_4
MP MB 080 2_5
MP MB 080 2_6
MP MB 080 2_7
MP MB 080 2_10
MP MB 080 3_9
MP MB 080 3_12
MP MB 080 3_15
MP MB 080 3_16
MP MB 080 3_20
MP MB 080 3_25
MP MB 080 3_28
MP MB 080 3_30
MP MB 080 3_35
MP MB 080 3_36
MP MB 080 3_40
MP MB 080 3_50
MP MB 080 3_70
MP MB 080 3_100
MP MB 080 4_48
MP MB 080 4_64
MP MB 080 4_75
MP MB 080 4_80
MP MB 080 4_84
MP MB 080 4_90
MP MB 080 4_120
MP MB 080 4_125
MP MB 080 4_140
MP MB 080 4_150
MP MB 080 4_160
MP MB 080 4_175
MP MB 080 4_200
MP MB 080 4_210
MP MB 080 4_216
MP MB 080 4_250
MP MB 080 4_280
MP MB 080 4_350
MP MB 080 4_400
MP MB 080 4_500
MP MB 080 4_700
MP MB 080 4_1000

121



@ Bonfiglioli

IS 121.3 (MP 105 1)
153.8 (MP 105 2)

47 186.3 (MP 105 3) 57.5

4 5
35 | 5
L1 O L B
,,,,,,,,,,,, L 1558 MP 1051 | 6.5
B~ MP1052 | 85
‘f § MP 1053 | 10.5
7 E‘ 85 +0.05
i 15

107.5 (MP 105 1)
140 (MP1052)
N5  172.5 (MP 105 3) 57.5

N3 5
2
35 [ 5 ﬁ
zo ! ! Lt ©
sal I &= 5}{38 MP1051 | 65
* 7 o NI MP1052 | 85
‘JE = P MP 1053 | 10.5
I =
% 85 +0.05 T 15 =
\\\q§° ! W
— =
)
ol R N | Nt | N2 | N3 | N4& | N5 | Lma
S
11 12 127 14 15 15875 16 19 - - — — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 — - — — | 55 |1257| 105 | 5 | Méx16 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - — — — | 60 | 85 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 — — — — | 70 | 85 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - — — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 65 | Mexi6 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — — — | 8 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - - — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 — — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - — — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - — — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

122



> Precision Planetary Gearboxes

L1
L3 L2

by N
[ I S o P Gy o -
FM Q Q i / n
"':41" Q
i o
&y
-
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 M6 1.3 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 31.5 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 B85 23 7.6 14 22.5
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5

SB HB

Ma2z Mp2 N1 nNimax Qs Or Ct R1 max R2 max A2 max R2 max A2 max M
Nm
[Nm] [Nm] [Nm] [min-1] [min-1] [arcmin] [arcmin [Nl [N] [N] [N] [Nl % 11..127 14..19 22-24 28 -32

MP 105 1_3
MP 105 1_4
MP 1051_5
MP 105 1_6
MP 105 1_7
MP 105 1_10
MP 105 2_9
MP 105 2_12
MP 105 2_15
MP 105 2_16
MP 105 2_20
MP 105 2_25
MP 105 2_28
MP 105 2_30
MP 105 2_35
MP 105 2_36
MP 105 2_40
MP 105 2_50
MP 105 2_70
MP 105 2_100
MP 105 3_48
MP 105 3_64
MP 105 3_75
MP 105 3_80
MP 105 3_84
MP 105 3_90
MP 105 3_120
MP 105 3_125
MP 105 3_140
MP 105 3_150
MP 105 3_160
MP 105 3_175
MP 105 3_200
MP 105 3_210
MP 105 3_216
MP 105 3_250
MP 105 3_280
MP 105 3_350
MP 105 3_400
MP 105 3_500
MP 105 3_700
MP 105 3_1000 [T

123



@ Bonfiglioli

50D ... 130A1

Q
P4

N3
Q
O

i = 5
2 "] Sy
el "35_ 5
2
S 98 &
© =
4+-— A S —8——— 1 s MPG1052 | 85
° 2 ~ MP G 1053 | 105
N . 0 MP G 1054 | 125
yoteeees | s
49 235.3 (MP G 105 4) 57.5
N4 _
Y
/ // N \
\ \\\K J// I
¥ =~
N2
@ N1
ol R N | Nt | N2 | N3 | N4& | N5 | Lma
11 12 127 14 15 15875 16 19 - — — — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
11 12 127 14 15 15875 16 19 - - — — | 55 |1257| 105 | 5 | M6x16 | 28 | 40
11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - — — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 - — — — | 70 | 8 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - — — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - — — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 — — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - — — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A | 11 12 127 14 15 15875 16 19 - — — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

124



> Precision Planetary Gearboxes

@ D1
D N 3
R IS
O o
D5 L5 View from Q
D4
Sl 1 By ‘
FM @Dl
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 | M6 315 19.5 76 12 125
14 15 15.875 16 48 90 98 M6x15 | M6 315 19.5 76 12 14.5
19 51 90 98 M6x15 | M6 315 19.5 76 12 16.5
22 24 56.5 90 98 M6x15 | M6 35 23 76 12 19
28 67 90 98 M6x15 | M8 35 23 76 14 225
32 71 90 98 M6x15 | M8 37 25 7.6 16 24.5

@ SB
~ \‘ Mnh2 Ma2 Mp2 N1max Ps QR Ct R2maxA2maxR2maxAz2max M

[Nm] [Nm] [Nm] [min-1] [min-"] [arcmin] [arﬁr[:in

MP G 105 2_3
MP G 105 2_4
MP G 1052_5
MP G 105 2_6
MP G 105 2_7
MP G 105 2_10
MP G 105 3_9
MP G 105 3_12
MP G 105 3_15
MP G 105 3_16
MP G 105 3_20
MP G 105 3_25
MP G 105 3_28
MP G 105 3_30
MP G 105 3_35
MP G 105 3_36
MP G 105 3_40
MP G 105 3_50
MP G 105 3_70
MP G 105 3_100
MP G 105 4_48
MP G 105 4_64
MP G 105 4_75
MP G 105 4_80
MP G 105 4_84
MP G 105 4_90
MP G 105 4_120
MP G 105 4_125
MP G 105 4_140
MP G 105 4_150
MP G 105 4_160
MP G 105 4_175
MP G 105 4_200
MP G 105 4_210
MP G 105 4_216
MP G 105 4_250
MP G 105 4_280
MP G 105 4_350
MP G 105 4_400
MP G 105 4_500
MP G 105 4_700
MP G 105 4_1000




@ Bonfiglioli

MP MB 105

50D ... 130A1

25 95
58 |
-~ 144 © 3266 ©
. [o0]
| ‘ | N5 © e
EE N AT S o || o 19
N a -
8 -k S5l e e N Rk
I R A ¥ 'ﬂ? o 11 o
o | E
| [ [ [
B o b
325 95 ) 32h7 ©
L 144 | 58
195 (MP MB 105 2)
227.5 (MP MB 105 3)
260 (MP MB 105 4) 6 Nm
34 o
o MP MB 105 2 32
g 4+t - MP MB 1053 | 34
MP MB 105 4 36
i
M10 72.5
124 |
15 145
b <R N | Nt | N2 | N3 | N4 | N5 | Lmax
o
1 12 127 14 15 15875 16 19 — — - — 50 95 100 5 M6x14 28 40
55A 11 12 127 14 15 15875 16 19 — - - - 55 125.7 | 105 5 M6x16 28 40
60A2 1 12 127 14 15 15875 16 19 — - - — 60 75 100 6.5 M5x14 28 40
60AH2 1" 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 — - - - 70 85 100 6.5 M6x14 28 40
70AH1 1 12 127 14 15 15875 16 19 — - — - 70 85 100 4 6.5 88 40
70B1 1" 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 1 12 127 14 15 15875 16 19 - - - - 80 100 100 6.5 M6x16 28 40
80AH1 11 12 127 14 15 15875 16 19 - - — - 80 100 100 4 6.5 33 40
95A 1" 12 127 14 15 15875 16 19 — - — - 95 115 100 6.5 M8x18 28 40
95A1 1" 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
95B 1" 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
110A 11 12 127 14 15 15875 16 19 - - — - 110 130 115 6.5 M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 — - 110 130 115 6.5 M8x20 38 50
110B " 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 1" 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 — - 130 165 140 6.5 M10x20 38 50
130A1 1" 12 127 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

126



> Precision Planetary Gearboxes

MP MB 105

L1
L2
[
5 o 7/ i
FM : ==
Q
%)
9 @
/:,
D (\ 1] D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 31.5 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 31.5 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 22.5
32 71 90 98 M6x15 M8 37 25 7.6 16 24 .5

‘Ti Nmax Qs Qg Ct

. . Nm
[min-'] | [aremin]  (Zominl ¢ 11..12.7 14..19

MP MB 105 2_3
MP MB 105 2_4
MP MB 105 2_5
MP MB 105 2_6
MP MB 105 2_7
MP MB 105 2_10
MP MB 105 3_9
MP MB 105 3_12
MP MB 105 3_15
MP MB 105 3_16
MP MB 105 3_20
MP MB 105 3_25
MP MB 105 3_28
MP MB 105 3_30
MP MB 105 3_35
MP MB 105 3_36
MP MB 105 3_40
MP MB 105 3_50
MP MB 105 3_70
MP MB 105 3_100
MP MB 105 4_48
MP MB 105 4_64
MP MB 105 4_75
MP MB 105 4_80
MP MB 105 4_84
MP MB 105 4_90
MP MB 105 4_120
MP MB 105 4_125
MP MB 105 4_140
MP MB 105 4_150
MP MB 105 4_160
MP MB 105 4_175
MP MB 105 4_200
MP MB 105 4_210
MP MB 105 4_216
MP MB 105 4_250
MP MB 105 4_280
MP MB 105 4_350
MP MB 105 4_400
MP MB 105 4_500
MP MB 105 4_700
MP MB 105 4_1000




@ Bonfiglioli

151.2 (MP 130 1)
190.7 (MP 130 2)
57.5 230.2 (MP 130 3) 69.5

5 7
50 |.3

MP 1301 | 12.0
MP 1302 | 155
MP 1303 | 18.5

110+0.05

110 +0.05

55A1 ... 180A1

126  (MP1301)
165.5 (MP 130 2)
N5 205 P1303) 69.5

N3 7
"8
|
|50 1.3 ﬁ
I |
NI~
pzd[a) =] c<c| X
sal : Ni[o ® MP 1301 | 12.0
o L et MP1302 | 155
™ = & MP1303 | 185
| I =
< 110 = 0.05 20 =
\\\4\50 |
. - FT
[
DI/% N | Nt | N2 | N3 N4 N5 | Lmax
—&x
55A1 14 15875 16 19 - = = - - - | 555 |1257 | 130 4 M6x15 | 395 | 50
80A2 14 15875 16 19 - - - - - - 80 100 | 130 4 M6x15 | 39.5 | 50
95A1 14 15875 16 19 22 24 - = o = 95 15 | 130 4 M8x20 | 395 | 50
110A1 14 15875 16 19 22 24 - - - - | 10 | 130 | 130 4 M8x20 | 39.5 | 50
110B1 14 15875 16 19 22 24 - - - — | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 14 15875 16 19 22 24 - - - - | 1143 ] 200 | 170 | 55 | M12x25 | 39.5 | 50
114A 14 15875 16 19 22 24 28 32 35 38 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 -  — - - | 130 | 165 | 140 4 M10x20 | 39.5 | 50
130A1 14 15875 16 19 22 24 28 32 - — | 130 | 165 | 140 4 M10x20 | 49.5 | 60
180A 14 15875 16 19 22 24 28 32 — — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

128



> Precision Planetary Gearboxes

L1
L3 L2
% |
- N
FM 5 84EFt -
) a3 7 o
7 )
vz ©
&y
T
D (\ 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 LS
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 245
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

Jg [kgem?]

%“‘Ti Mn 2 Nt Nimax Qs  Qr Ct  R1max R2 max A2 max
i

Nm
arcminll NI [N] [N] 14..19 22-24 28-32 35-38

[min-1] [min-]  [arcmin]
MP 130 1_3
MP 130 1_4
MP 1301 5
MP 130 1_6
MP 1301_7
MP 130 1_10
MP 130 2_9
MP 130 2_12
MP 130 2_15
MP 130 2_16
MP 130 2_20
MP 130 2_25
MP 130 2_28
MP 130 2_30
MP 130 2_35
MP 130 2_36
MP 130 2_40
MP 130 2_50
MP 130 2_70
MP 130 2_100
MP 130 3_48
MP 130 3_64
MP 130 3_75
MP 130 3_80
MP 130 3_84
MP 130 3_90
MP 130 3_120
MP 130 3_125
MP 130 3_140
MP 130 3_150
MP 130 3_160
MP 130 3_175
MP 130 3_200
MP 130 3_210
MP 130 3_216
MP 130 3_250
MP 130 3_280
MP 130 3_350
MP 130 3_400
MP 130 3_500
MP 130 3_700
MP 130 3_1000

129



@ Bonfiglioli

55A1 ... 180A1

gN
Bl
wof =] 7 .
gl iy Te
Ly 50 3
[Te)
1o 124 &
© =
4 A — —8——— - ‘To MP G 1302 | 16.0
@ =t MP G 1303 | 19.5
0 [{e] e
™ = B MPG1304 | 22,5
‘ 213.2
2Zwme | o
124 62 292.2 (MP G 130 4) 69.5 |
M,T
e _L__ &
{ A
1 oy
L)
|\ KJ a
\ \\ // /,
& T g
N2
@ N1
DI% N | Nt | N2 | N3 N4 | N5 | Lmax
&Sy
55A1 14 15875 16 19 - - - - — _ | 555 | 1257 | 130 4 M6x15 | 395 | 50
80A2 14 15875 16 19 - - - - - — | 80 | 100 | 130 4 M6x15 | 395 | 50
95A1 14 15875 16 19 22 24 - - - — | 95 | 115 | 130 4 M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 — - —  — | 110 | 130 | 130 4 M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 — - —  _— | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 | 14 15875 16 19 22 24 — -  _—  _ | 1143| 200 | 170 | 55 | M12x25 | 395 | 50
114A 14 15875 16 19 22 24 28 32 35 38 |1143| 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 - - -  — | 130 | 165 | 140 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 -  — | 130 | 165 | 140 4 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 32 -  — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

130




> Precision Planetary Gearboxes

@ D1
D N
R NS
QO o
D5 L5 View from Q
D4
FM 2 95 —
gD|! ) ’ OO:
b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 13 1255 | M8x15 M6 40 275 6 20 145
19 51 13 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 285 6 19.5 19
28 67 13 1255 | M8x15 M8 41 285 6 19.5 225
32 71 13 1255 | M8x15 M8 41 285 6 19.5 245
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 M8 50 375 11.25 26 28

Nt Nimax @Ps Qr Ct

Nm
[min-1] [min-1] ' [arcmin] ’arcmin] 14..19 22-24 28-32 35-38

MP G 130 2_3
MP G 130 2_4
MP G 1302_5
MP G 130 2_6
MP G 130 2_7
MP G 130 2_10
MP G 130 3_9
MP G 130 3_12
MP G 130 3_15
MP G 130 3_16
MP G 130 3_20
MP G 130 3_25
MP G 130 3_28
MP G 130 3_30
MP G 130 3_35
MP G 130 3_36
MP G 130 3_40
MP G 130 3_50
MP G 130 3_70
MP G 130 3_100
MP G 130 4_48
MP G 130 4_64
MP G 130 4_75
MP G 130 4_80
MP G 130 4_84
MP G 130 4_90
MP G 130 4_120
MP G 130 4_125
MP G 130 4_140
MP G 130 4_150
MP G 130 4_160
MP G 130 4_175
MP G 130 4_200
MP G 130 4_210
MP G 130 4_216
MP G 130 4_250
MP G 130 4_280
MP G 130 4_350
MP G 130 4_400
MP G 130 4_500
MP G 130 4_700
MP G 130 4_1000




@ Bonfiglioli

MP MB 130

55A1 ... 180A1 375 100
172 s | ‘
™ 42 G6 ©
| | N5 ® e
| N3 BRI
Y72 | T = ©
\@777‘ 777@ wn @ ‘ @ g
— ~ — : @
=} R pdla} —a R I N =1\ ]
2 R st I : s SESIRIRS
© :IE: :
[t} é% — = é ) & T &
q- T
\ I i
_‘:|—‘—|:,_ ] I
T LQ ‘uu—v—
42.5 100 ® 42 ht ©
L. 172 | 75
233.5 (MP MB 130 2)
273  (MP MB 130 3)
312.5 (MP MB 130 4) 15 Nm
47 o
& © MPMB 1302 | 54
- T I —— — el
0 © - MPMB 1303 | 58
o MP MB 130 4 61
[e)]
M12
20
| I
DI% N | Nt | N2 | N3 N4 | N5 | Lmax
7
55A1 14 15.875 16 19 - — — - — - 555 | 125.7 130 4 M6x15 39.5 50
80A2 14 15875 16 19 - - - - - - 80 100 130 4 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 - - - - 95 115 130 4 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - — — 110 130 130 4 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - - - - 110 145 130 6.5 M8x20 495 60
114A0 14 15875 16 19 22 24 - - - - 114.3 | 200 170 55 M12x25 39.5 50
114A 14 15875 16 19 22 24 28 32 85 38 114.3 | 200 170 585 M12x25 69.5 80
130A 14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 39.5 50
130A1 14 15.875 16 19 22 24 28 32 - - 130 165 140 4 M10x20 | 49.5 60
180A 14 15.875 16 19 22 24 28 32 - - 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15.875 16 19 22 24 28 32 35 38 180 215 190 5.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

132



> Precision Planetary Gearboxes

MP MB 130

L1
L2
[
FM o S — -
Q Q = a
Q
O
& Ly
an
D (\* 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 LS
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 245
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

‘Ti NMmax Qs Qr  Ct

Nm
[min-1] = [arcmin] ’arcminl 9 14..19 22-24 28-32 35-38

MP MB 130 2_3
MP MB 130 2_4
MP MB 130 2_5
MP MB 130 2_6
MP MB 130 2_7
MP MB 130 2_10
MP MB 130 3_9
MP MB 130 3_12
MP MB 130 3_15
MP MB 130 3_16
MP MB 130 3_20
MP MB 130 3_25
MP MB 130 3_28
MP MB 130 3_30
MP MB 130 3_35
MP MB 130 3_36
MP MB 130 3_40
MP MB 130 3_50
MP MB 130 3_70
MP MB 130 3_100
MP MB 130 4_48
MP MB 130 4_64
MP MB 130 4_75
MP MB 130 4_80
MP MB 130 4_84
MP MB 130 4_90
MP MB 130 4_120
MP MB 130 4_125
MP MB 130 4_140
MP MB 130 4_150
MP MB 130 4_160
MP MB 130 4_175
XV REL R
MP MB 130 4_210
MP MB 130 4_216
MP MB 130 4_250
MP MB 130 4_280
MP MB 130 4_350
MP MB 130 4_400
MP MB 130 4_500
MP MB 130 4_700
MP MB 130 4_1000

133



@ Bonfiglioli

|S 155.2 (MP 160 1)
194.7 (MP 160 2)
61.5 234.2 (MP 160 3) 98

2.25 15 14
50 \ 70 |6
‘\
NI | RS &
ool BB+ ————— L i gE 9 MP 1601 | 17.0
\—"’g Q=T MP 1602 | 21
& | j & MP 1603 | 28
130:0.05 = 7 1 = 130 +0.05
18] | o5

55A1 ... 180A1

130 (MP 160 1)
169.5 (MP 160 2)
N5 209 (vP1603) 98
N3 14

2
y

D=
@] s =l sz® P is02 21
TR = & MP 1603 | 28
< 130 1io.os 25 =
St
DI/% N | Nt | N2 | N3 N4 N5 | Lmax
£
55A1 | 14 15875 16 19 - - - - - — | 555 |1257 | 140 | 5 | Méx15 | 395 | 50
80A2 | 14 15875 16 19 - - - - - — | 8 | 100 | 140 | 5 | M6éxi5 | 395 | 50
95A1 | 14 15875 16 19 22 24 - - - — | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - - — | 110 | 130 | 140 | 5 | M8&x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A | 14 15875 16 19 22 24 28 32 35 38 |1143| 200 | 170 | 65 | M12x25 | 695 | 80
130A | 14 15875 16 19 22 24 - - - — | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 65 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

134



> Precision Planetary Gearboxes

L1
L3 L2
|
by N
FM S e P 1
5 Sfgs= = —
7 S
7 ©
&y
Vv
b| (<> D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 130 | 1425 | M8x16 | M6 40 275 6 20 145
19 51 130 | 1425 | M8x16 | M6 40 275 6 20 16.5
22 24 56.5 130 | 1425 | M8x16 | M6 41 285 6 195 19
28 67 130 | 1425 | M8x16 | M8 41 285 6 195 | 225
32 71 130 | 1425 | M8x16 | M8 41 285 6 195 | 245
35 73 130 | 1425 | M8x16 | M8 50 375 | 11.25 26 26
38 775 130 | 1425 | M8x16 | M8 50 375 | 11.25 26 28

Ja [kgecm?]

%“‘Ti N1 Nimax @Ps Qg (of} R1max R2max A2max
)
i

[min-1] [min-1]  [arcmin] [arzrr:in] [N] [N] [N] 14 ...19 22-24 28-32 35-38

MP 160 1_3
MP 160 1_4
MP 160 1_5
MP 160 1_6
MP 160 1_7
MP 160 1_10
MP 160 2_9
MP 160 2_12
MP 160 2_15
MP 160 2_16
MP 160 2_20
MP 160 2_25
MP 160 2_28
MP 160 2_30
MP 160 2_35
MP 160 2_36
MP 160 2_40
MP 160 2_50
MP 160 2_70
MP 160 2_100
MP 160 3_48
MP 160 3_64
MP 160 3_75
MP 160 3_80
MP 160 3_84
MP 160 3_90
MP 160 3_120
MP 160 3_125
MP 160 3_140
MP 160 3_150
MP 160 3_160
MP 160 3_175
MP 160 3_200
MP 160 3_210
MP 160 3_250
MP 160 3_280
MP 160 3_350
MP 160 3_400
MP 160 3_500
MP 160 3_700
MP 160 3_1000

135



@ Bonfiglioli

55A1 ... 180A1

Limax

o
>
~
N5
|
LY ‘
=
|
)
alv
(<))

= \
—r <
e 2 | : &
e
[ + —8——— +—1 e MPG1602 | 24
o I\ N =t MP G 1603 | 28
¥ - Q MP G 1604 | 34
218.2
130 0.5 5577 b @ 160 3 ’L M12x25
137 62 ‘ 297.2 (MP G 160 4) 98 |
M»w¢
® L &)
/ 7 x \
i /Cs\ ‘\
TR K J )
| \\ // ,,
5 == g
N2
@ N1
DI% N | N1 | N2 | N3 N4 N5 | Lmax
&
55A1 | 14 15875 16 19 - - - - - - | 555 1257 140 | 5 | Méx15 | 395 | 50
80A2 | 14 15875 16 19 - - - - — — | 8 | 100 | 140 | 5 | Méx15 | 395 50
95A1 | 14 15875 16 19 22 24 - - - - | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - - — | 110 | 130 | 140 | 5 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - — — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A | 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
130A | 14 15875 16 19 22 24 - - - — | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - — | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - — | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 6.5 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

136



> Precision Planetary Gearboxes

@ D1

77
7]
L3

2
A

(77777
L2 7

G

QO o
D5 L5 View from Q
D4
FM S 35 ‘
@D

b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 13 1255 | M8x15 M6 40 275 6 20 145
19 51 13 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 285 6 19.5 19
28 67 113 1255 | M8x15 M8 41 285 6 19.5 225
32 71 113 1255 | M8x15 M8 41 285 6 19.5 245
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 M8 50 375 11.25 26 28

N1 Nimax Qs Qg Ct

: : : m
[min-1] [min-1]  [arcmin] ’arcmin]
MP G 160 2_3
MP G 160 2_4
MP G 160 2_5
MP G 160 2_6
MP G 160 2_7
MP G 160 2_10
MP G 160 3_9
MP G 160 3_12
MP G 160 3_15
MP G 160 3_16
MP G 160 3_20
MP G 160 3_25
MP G 160 3_28
MP G 160 3_30
MP G 160 3_35
MP G 160 3_36
MP G 160 3_40
MP G 160 3_50
MP G 160 3_70
MP G 160 3_100
MP G 160 4_48
MP G 160 4_64
MP G 160 4_75
MP G 160 4_80
MP G 160 4_84
MP G 160 4_90
MP G 160 4_120
MP G 160 4_125
MP G 160 4_140
MP G 160 4_150
MP G 160 4_160
MP G 160 4_175
MP G 160 4 200
MP G 160 4_210
MP G 160 4_250
MP G 160 4_280
MP G 160 4_350
MP G 160 4_400
MP G 160 4_500
MP G 160 4_700
MP G 160 4_1000




@ Bonfiglioli

MP MB 160

55A1 ... 180A1 375 100
75 ‘
172 0 42 G6 ©
‘ ‘ N5 © e =
1 N3 BRI
Y7 1 i == ©
G — 0 | & : ¢ i e
MREE i
o R pdla} —a I I N =1 N1 (>
2 \ | \ sat ; T 2] &K
o :
[Te} é% — = é g & T @
N | L |
v T
\ I Ly
B te} "‘u—é—
42.5 100 ® 42 h7 ©
L 172 | 75
237.5 (MP MB 160 2)
277 (MP MB 160 3)
316.5 (MP MB 160 4) 15 Nm
o
. MP MB 160 2 59
® - - 3 MP MB 160 3 | 63.5
O MP MB 1604 | 70.5
M12
20
| I
DE% N | Nt | N2 | N3 N4 N5 | Lmax
7
55A1 14 15.875 16 19 - - - - - - 55.5 | 125.7 | 140 5 M6x15 39.5 50
80A2 14 15.875 16 19 - - - - - - 80 100 140 5 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — - - — 95 115 140 5 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - — - 110 130 140 5 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - — — — 110 145 140 6.5 M8x20 49.5 60
114A 14 15875 16 19 22 24 28 32 35 38 | 114.3 | 200 170 6.5 M12x25 | 69.5 80
130A 14 15875 16 19 22 24 - — - — 130 165 140 5 M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - - 180 215 190 6.5 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 6.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

138



> Precision Planetary Gearboxes

MP MB 160

L1
L2
[
FM o B =] ——— s
Q - =)
Q
%)
&y
Vv
D (\’ 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 22.5
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 77.5 130 142.5 M8x16 M8 50 37.5 11.25 26 28

, Nm
[arcmin] Py 9 14..19 22-24 28-32 35-38

N

=0 % @ G

¢
MP MB 160 2_3
MP MB 160 2_4
MP MB 160 2_5
MP MB 160 2_6
MP MB 160 2_7
MP MB 160 2_10
MP MB 160 3_9
MP MB 160 3_12
MP MB 160 3_15
MP MB 160 3_16
MP MB 160 3_20
MP MB 160 3_25
MP MB 160 3_28
MP MB 160 3_30
MP MB 160 3_35
MP MB 160 3_36
MP MB 160 3_40
MP MB 160 3_50
MP MB 160 3_70
MP MB 160 3_100
MP MB 160 4_48
MP MB 160 4_64
MP MB 160 4_75
MP MB 160 4_80
MP MB 160 4_84
MP MB 160 4_90
MP MB 160 4_120
MP MB 160 4_125
MP MB 160 4_140
MP MB 160 4_150
MP MB 160 4_160
MP MB 160 4_175
MP MB 160 4_200
MP MB 160 4_210
MP MB 160 4_250
MP MB 160 4_280
MP MB 160 4_350
MP MB 160 4_400
MP MB 160 4_500
MP MB 160 4_700
MP MB 160 4_1000




@ Bonfiglioli

55A1 ... 180A1

158.7 (MP 190 1)
210.4 (MP 190 2)

N5 = 262.1 (MP 190 3) 96
13 N4
2 -
-
e
60 | 11 Qf,s,// B
|/ \ )
\ 3 : g aN )
£ 5 o |3 \Qﬁ ) MP1901 | 25
™ - \ /
i sl fems
sale —=—"
Lo 15 N2
@ N1
) N | N1 | N2 | N3 N4 N5 | Lmax
N
14 16 19 - - - - - - - - - |555([1257]| 140 | 5 M6x15 | 39.5 | 50
14 16 19 - - - - - — | 8 | 100 | 140 | 5 M6x15 | 39.5 | 50
14 16 19 22 24 - - - - - - - | 95 | 15 | 140 | 5 M8x20 | 39.5 | 50
14 16 19 22 24 - - - - — - — | 110 | 130 | 140 | 5 M8x20 | 39.5 | 50
14 16 19 22 24 - - - - - - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 16 19 22 24 28 32 35 38 42 45 48 | 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
14 16 19 22 24 - - - - - - | 130 | 165 | 140 | 5 | M10x20 | 39.5 | 50
14 16 19 22 24 28 32 - - - — — | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
14 16 19 22 24 28 32 - - - - — | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 | 190 | 6.5 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

FM
Yo}
L3 s < L2
Q a) 1 al
L 1

- i

Q it a “p—1 ] i — B

Q Q =

Q
& =
L4
L1
P
D (\' D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

14 16 48 130 142.5 M8x14 M6 455 27.5 6 20 14.5
19 51 130 142.5 M8x14 M6 45.5 27.5 6 20 16.5
22 24 56.5 130 1425 M8x14 M6 47 29 6 20 19
28 67 130 142.5 M8x14 M8 47 29 6 20 22.5
32 71 130 142.5 M8x14 M8 47 29 6 20 24.5
35 73 130 1425 M8x14 M8 54.5 36.5 6 25 26
38 77.5 130 142.5 M8x14 M8 54.5 36.5 6 25 28
42 92 130 142.5 M8x14 M10 60.5 40 6 25 33
45 95 130 142.5 M8x14 M10 60.5 40 6 25 33
48 97 130 142.5 M8x14 M10 60.5 40 6 25 33

140



> Precision Planetary Gearboxes

NS Je [kgcm?]
&J“.‘}I Mh2 Ma2 Mp2 n1 nimax @Ps Qg Ct R2maxAzmax 1 ﬁ
: o S
I [Nm] [Nm] [Nm] [min-'] [min-'] [arcmin] larcmin [Nl [N] % 14..24 28-32 35-35 42 45-48
MP 190 1_3 500 [ 800 | 1400 | 1500 | 2500 | 15' | 10" 130 [14000({15000| 97 | 24.20 | 24.88 | 25.65 | 29.30 | 29.90
MP 190 1_4 700 | 950 | 1800 | 2100 | 3000 | 15" | 10' 130 [14000({15000| 97 | 13.41 | 14.09 | 14.85 | 18.51 | 19.11
MP 190 1_5 700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 130 |14000({15000| 97 9.32 | 10.00 | 10.77 | 14.42 | 15.02
MP 190 1_6 700 | 950 | 1800 | 2300 | 3000 [ 15" | 10' 130 |14000({15000| 97 2.88 3.56 4.33 7.98 8.58
MP 190 1_7 700 | 950 | 1800 | 2900 | 3500 | 15' | 10' 130 [14000(15000| 97 5.68 6.36 713 | 10.78 | 11.38
MP 190 1_10 500 | 800 | 1400 | 2900 | 3500 | 15" | 10' 130 [14000({15000| 97 3.57 4.25 5.02 8.67 9.27
MP 190 2_9 500 [ 800 | 1400 | 1500 | 2500 | 15' | 10 100 [14000({15000| 94 | 23.23 | 23.91 | 24.67 | 28.33 | 28.93

MP 190 2_12 1000 | 1200 | 2200 | 1500 | 2500 | 15" | 10' 100 |14000(15000( 94 | 22.03 | 22.71 | 23.48 | 27.13 | 27.73
MP 190 2_15 1000 | 1200 | 2200 | 1500 | 2500 | 15" | 10' 100 |14000({15000| 94 | 21.58 | 22.25 | 23.02 | 26.68 | 27.27
MP 190 2_16 1000 | 1200 | 2200 | 2100 | 3000 | 15" | 10' 100 |14000({15000| 94 | 12.19 | 12.86 | 13.63 | 17.29 | 17.89
MP 190 2_20 1000 | 1200 | 2200 | 2300 | 3000 | 15" | 10' 100 |[14000({15000| 94 8.54 9.22 9.98 | 13.64 | 14.24
MP 190 2_25 1000 | 1200 | 2200 | 2300 | 3000 | 15" | 10' 100 |14000(15000( 94 8.37 9.05 9.82 | 13.48 | 14.07
MP 190 2_28 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 |[14000({15000| 94 5.28 5.96 6.73 | 10.38 | 10.98
MP 190 2_30 500 | 800 | 1400 | 2900 | 3500 [ 15" | 10' 100 |[14000({15000| 94 3.48 4.16 4.93 8.58 9.18
MP 190 2_35 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 |[14000({15000| 94 5.20 5.87 6.64 | 10.30 | 10.90
MP 190 2_36 700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 100 |[14000({15000| 94 2.18 2.86 3.63 7.28 7.88
MP 190 2_40 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 |[14000({15000| 94 3.37 4.05 4.82 8.48 9.07
MP 190 2_50 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 |[14000|15000| 94 SES3) 4.01 4.78 8.44 9.03
MP 190 2_70 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 [14000({15000| 94 3.30 3.97 4.74 8.40 9.00
VPR 500 | 800 | 1400 | 2900 | 3500 | 15' | 10 100 |[14000({15000| 94 3.28 S195) 4.72 8.38 8.98
MP 190 3_48 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12 90 |14000(15000( 91 | 12.73 | 13.40 | 14.17 | 17.83 | 18.43
MP 190 3_64 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12' 90 [14000({15000| 91 | 12.10 | 12.78 | 13.55 | 17.21 | 17.80
MP 190 3_75 1000 | 1200 | 2200 | 2300 | 3000 | 17" | 12' 90 [14000|15000( 91 8.86 9.54 | 10.31 | 13.97 | 14.56
MP 190 3_80 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12' 90 [14000({15000| 91 | 12.09 | 12.76 | 13.53 | 17.19 | 17.79
MP 190 3_84 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12' 90 [14000|15000| 91 5.46 6.13 6.90 | 10.56 | 11.16
MP 190 3_90 500 | 800 | 1400 | 2900 | 3500 | 17" | 12 90 |14000|15000| 91 3.47 4.15 4.92 8.57 9.17
(R PO 1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000|15000| 91 3.46 4.14 4.91 8.56 9.16
(e AT 1000 (1200 | 2200 | 2300 | 3000 | 17 | 12 90 [14000|15000( 91 8.34 9.01 9.78 | 13.44 | 14.04
Vs R I 1000 (1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000|15000| 91 5.25 5.92 6.69 | 10.35 | 10.95
VSR T 1000 (1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000|15000| 91 3.46 4.13 4.90 8.56 9.15
(IR 1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000({15000( 91 3.36 4.04 4.81 8.46 9.06
R AT 1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000({15000| 91 5.18 5.85 6.62 | 10.28 | 10.88
Vs PO 1000 (1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000(15000| 91 3.36 4.03 4.80 8.46 9.06
Vs PR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000| 91 3.45 4.13 4.90 8.55 9.15
(IR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000| 91 3.32 4.00 4.77 8.42 9.02
R 1000 (1200 | 2200 | 2900 | 3500 | 17 | 12 90 [14000|15000| 91 3.29 Sior 4.74 8.39 8.99
VSR 1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 [14000(15000| 91 3.29 3.97 4.74 8.39 8.99
Vs RO 1000 (1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000| 91 3.27 3.95 4.72 8.38 8.97
(s 1000 | 1200 | 2200 | 2900 | 3500 | 17 | 12 90 |14000|15000| 91 3.27 3.95 4.72 8.38 8.97
VRO 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000({15000| 91 3.27 388 4.72 8.38 8.97
VRO 500 (800 | 1400 | 2900 | 3500 | 17" | 12' 90 [14000(15000| 91 3.27 S195) 4.72 8.38 8.97

141



@ Bonfiglioli

6.3.1 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
M B B1 B2
S
038 08 7\1 5°
~ N [sp} <t
< < < <

@ A1 A2 A3 A4 B B1 B2 S

MP MB 080 2125 20 h7 18 20 h7 178 50 90
MP MB 105 =40 32 h7 30 32 h7 205 60 115 1
MP MB 130/160 =50 42 h7 40 42 h7 259 70 140

142





